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PR g
1A-A1-f[1¥ -405-COT
1A-A2-f[17
1A-C5-f1¥
1A-C6-f[1¥
1A-B3-4:% -405-CYY
1A-B4-4 ¥
) prlntf( S. )
Tf‘*“ fEi i v printf(..s,t..) strncpy(L.s..
1A-A1-f[1?¥ -405-COT
1A-A2-f1¥ -405-COT «
1A-C5-f[1¥ -405-COT
1A-C6-f|1¢ -405-COT if(strlen(s)>10){
1A-B3-4:¢ -405-CYY strncpy(t,s+10,10);
1A-B4-4: ¥ -405-CYY printf ("%s",s);
Yelse{
printf ("%s%s",s,t);
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@ void display(){ void enquiry(){ void stat(){
} } }
main()<{
do{
printf("1. ¥jJH]print time table \n");
printf("2. ﬁ‘[ =enquiry\n");
printf("3. »F|statistics\n"); FIER
printf("Q. ¥gfflexit/quit\n"); gl 3]: 758 (e.g. 1A)
opt = toupper(getche()); TWHF (e.g. SCY)
-1 =1
if(option=='Q') break; *o (e.g. 209)
switch (Opt){ = EL R g
case '1": display(); break; i@ R E T (0.9 AS)
case '2': enquiry(); break; SE=L. A (7) KRRk
, case '3": stat(); break; Lk 1A%[W ESg e ok K K oK Ko
e * % >k K 5k %
Ywhile(1); 1AU=(6)
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3 [10:00-10:35 | A& | (Ii¥ ?ﬂm H | spi |
4 |10:35-11:10 | W& | B | FE | Y | @ | i
5 | 11:30-12:05 | #¥ | Fr= | g | W | Y | R
6 |12:05-12:40 | H¥ | Fr= | ¥ | ®WA | ¥ | RF
7 | 14:05-14:40 | @ | H¥ | v | F &
8 [|\14:40-15:15 | &HH /| F¥ | (¥ | JH Ea e
1. FjJH]print time table
SIHE A # . SCY 2. A svenquiry
@ TIRFE RS 3. M| statistics
4. [“Fsubstitution
5. +Jf3:fswapp|ng
Q. #EHilexit/quit
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14:40-15:15 1A-F3{i1¥ 1A-C6-4i 1A-C3-
1A-F4{f 1% 1A-D7-% ¥ 1A-B1 éfi
LA-C1yH1gl 1A-D8-#: 1A-B2-§jy=
- 1A-C24f] 1pli 1A-E5-%i % 1A-D1-gr=
AL 1A-FL{ium | 1A-E6-id 1A-D2-B=
AREESll 1A-F2{#42E 1A-E7-7 %% 1A-F7-gp=e
1A-Al4E[ 1A-E8- 4 1A-F8-§r=
1A-A24%[ % 1A-B5-%T1% 1A-E1-7RHl
1A-F5{%|% 1A-B6-%T1% 1A-E2-75l1
1A-F6{%| % 1A-E3-5p)# 1A-D5-)
1A-B45L3 1A-E4-ipii% 1A-D6-#7]

Time Table




S <1

Time Table

Pl A B C D E F
day

1 F5

2 F5 F.1 F.3 F.3
3 F5 F.1 F.3 F.3
4 F.1 F.2 F5

5 F.1 F.2 F5

6 F.7

7 F.7 F.2 F.7

8 F.7 F.2 F.7




